@HomeTuto;

dasszone.com

A._ _ M — dugl'::er.‘c’:: | _ Chapter Review Pragtice

* Multi-Lan gt ,pe a
Extra Example 5.1 J | VOCBbulargyu;r: Use e s pp.303-309 Extra Example 5.2
g . - 09 -
h; téf;;dlagram DF is a midsegment .’ REVIEW KEY VOCABULARY "EXAMPLE J Uses the diagram to find RS. 29
of A ABC. Find BC. 24 | |
...................... il P t the right t T
8 : For a list of - midsegment of a triangle, p. 295 « Incenter, p. 312 Sy Use the diagram - 5+ findiz,
: postulates and . coordinate proof, p. 296 - median of a triangle, p. 319 o ﬁ is the perpendicular bisector of Xy dx - 3 =
| i theorems, see . perpendicular bisector, p. 303 - centroid, p. 319 [ e 3¢r+3 By the Perpendicul
D E i : pp. 926-931. « equidistant, p. 303 - altitude of a triangle, p. 320 jox =35 = % Theorem,g = ;:ar Blsector R 3x+5  §
- orthocenter, p. 321 .
12 » concurrent, p. 305 o roo: "y st [ iy Sohve for x Extra Example 5.3
A F o | * point of concurrency, p. 305 4 sheadl * s ) ~5=1 In the diagram, Pis the incenter of
| _ « circumcenter, p. 306 %4 ,_";so;XZ: HxX =5 = = Io. A ABC.Find PD. 14
| 2.Findthe —— | r ]“' ‘ i( 8 E
M P2a, 2b) s o VOCABULARY Exmasss EXERCISES |
perpendicular 1. Copy and complete: A _?_is a segment, ray, line, or plane that is perpendi icular nm the diagram, BD is the perpendicular bisector of AC.
bisectors of the ts m d oint. perpendicular bisector
wiangle. Using to a segment at its midp e V 9. what segment lengths are equal? B4 and B¢ pa and DC
this point as the 2. WRITING Explain how to draw a circle that is circumscribed about a triangle, What is the value of x? 5
= L center of the What is the center of the circle called? Describe its radius. ‘ 10.
0(0, 0) Q(2a8,0) = circle, draw a P S uf-‘.-:~‘Find AB. 25
circle whose In Exercises 3-5, match the term with the correct definition. 1158
radius is the ; . : . B
distance from 3. Incenter B A. The point of concurrency of the medians of a triangle - .
the point to an : - : 5. |
of thpe verticesy 4. Centroid A B. The point of concurrency of the angle bisectors of a triangle _- '. , _' T \——wa | B'SQC!OI‘S OfTriangles |
: : : : : | ek - s . 310~
3:;:: ,',T;e;::,i,r,'::: 5. Orthocenter C C. The point of concurrency of the altitudes of atriangle 8 : e | =P R pp 316 J !
circumcenter to | F AL :
| any of the vertices | '.!-L:'_., d “ . am, N is the incenter of A XYZ. Find NI |
. REVIEW EXAMPLES AND EXERCISES [ WUsethe Pythagorean Theorem to find N in ANMY |
! Use the review examples and exercises below to check your understanding c = az + b? Pythagorean Theorem |
| of the concepts you have learned in each lesson of Chapter 5. | »«h NM’ + 242 Substitute k Yok
." 900 = NM? + 576 Multiply.
e *‘v" "' Subtract 576 from each side.
) ;'
N Z
i’ 18 = NM " I Take positive square root of each side.
¥ EXAMPLE o | e Cor eurrency of Angle Bisectors of a Triangle, the incenter N of AXYZ
J In the diagram, DE is a midsegment of mu istant ogx _a’l,ll ;hree sides of AXYZ. So, because NM = NL. NI = 18.
¢ A ABC. Find AC. LR
| Do i L N ERCIS "‘% |
¥ By the Midsegment Theorem, DE = SAC. e e ¢ |
. Yoint D is L_L_— ncen gsofthetﬂangle.!-'lndthevalueofx.
" ' [a Lo 5

| So.AC= 2DE = 2(51) = 102.

EX!CISES

: EXAMPLES
: I 4, and 5
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Extra Example 5.4

The vertices of A RST are R(1, 4),
8.(3. 8), and T(5, 0). Find the coor-
dupat_es qf the_cen;roid, M. (3,4)
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Extra Example 5.5

A triangle has one side of length 13
and another of length 18. Describe
the possible lengths of the third
side. The length of the third side
must be greater than 5 and less

than 31.

18. Sample:
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Use Medians and Altitudes o319 45

: EXAMPLES

: on pp. 319-321
: for Exs. 14-18

346 Chapter 5 Relationships within Triangles

CHAPTER REVIEW

The vertices of AABCare A(-6,8
fits centroid P.

C(-12, 2). Find the coordinates 0

Sketch A ABC. Then find the midpoint M of BC
and sketch median AM.

- —d
M{=12+0, 222 = M(=6, 1) -

The centroid is two thirds of the dis.tan?c from a
vertex to the midpoint of the opposité side.
to midpoint M(=6, —1) is 8 — (~1) = 9 ypj¢s

down from A on AM.

The distance from vertex A(—6, 8)
So. the centroid P1is %(9) = 6 units

» The coordinates of the centroid P are (—6, 8 — 6), or (=6, 2).

EXERCISES
Find the coordinates of the centroid D of ARST.
14. R(—4,0), S(2,2), T(2, —2) (0,0 15. R(=6,2), S(-2,6), T(2,4) (-,

Point Q is the centroid of AXYZ.
16. Find XQ. 6 17. Find XM. 3.5

18. Draw an obtuse AABC. Draw its three

altitudes. Then label its orthocenter D
See margin.

A triangle has one side of length 9 and another of length 14. Describe the
possible lengths of the third side.

Let x represent the length of the third side. Draw diagrams and use the
Triangle Inequality Theorem to write inequalities involving x.

7

x+9>14 9+ 14>x

x>5 23>x,0orx<23

» The length of the third side must be greater than 5 and less than 23.

EXERCISES

) “.,ibethe possible lengths of the third «;
‘0’6 engths of the other two sides. Side of the triangle given the
[V : inch :
| W 19. 4 mihiﬁsﬁ l<n 1C2 |enS s metc:;rs. J meters 2]
g g2 ' : m<f<i5 + 12 feer, 2
#24 | ist the sides and the angles in order from SmalleStTo | Bft< 8 3f§(;tt
argest,
zz ﬁ 23. M
p 42’ 65” Q II:W Tes _Jl N
70, PR, 0P; ZP.20,ZR MNIN; 2N, 21 s

aqualities in Two Tri
14 Ined alities angles and Indirect Proof

”E AMPLE
does the length of DG compare to the length of FG?

e
) y Because. 27° > 23°, m£LGEF > m£GED. You are given th
i 'f 'b_f“‘ FE and you know that EG = EG. Two sides of AG; t
| arecongruent to two sides of AGED and the included i E
%’mgle is larger so, by the Hinge Theorem, FG > pg X
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s '\{,;COPY:' and complete with <, >, or =.
i al‘ 25. m£BAC_2_mZDAC > 26. IM_? KN =
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| .%ran;ax;‘ge stt.altemer;t.s A—p in correct order to write an indirect proof of the
- statement: If two lines intersect, then their intersection is exactly one point. C,B,A,D

| GIVEN P Intersecting lines m and n
- PROVE P The intersection of lines m and n is exactly one point.

N

- A. But this contradicts Postulate 5, whi
i : » Which states that thro .
L ,_pgil,lts there is exactly one line. 3 by

',"'_Ijb,enthgre are two lines (m and n) through points P and Q.
- ,T’ACI _ ool .
C. As g‘mg that there are two points, P and Q, where m and n intersect.

3 o I -'T',

D. Itis false that /2 and n can intersect in two points, so they must

intersect in exactly one point.
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Extra Example 5.6

How does the length of CD com-
pare to the length of CB? CD< CB




